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sort ID Tinme
Make a scatter plot

graph CD4 Tinme, s(.) xlab ylab rlabe
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Draw a |ine graph, connect the points for each individual with increasing tine

graph CD4 Time, c(L) s(i) xlab ylab
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nce the plot |ooks nosiy let’s just plot the deicles.

sort ID Tine

gen first = ID!= 1D _n-1]
br owse

gen second = ID!= 1D _n-2]
browse

sort first CD4

br owse

gen decile = first & (int(_n/37) ==_n/37)
sort ID Tine

browse

drop second

br owse

replace decile = decil[_n-1] if ID == 1D _n-1]
3 real changes made)



gen count = CD4 if decile
(2293 mi ssing val ues gener at ed)

graph CD4 count Time, c(.L) s(.i) xlab ylab pen(12)
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Movi ng aver age

ksm CD4 Time, linear bw(0.8) xlab ylab s(.) pen(12)
Running line smoother, bandwidth = .8
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The | owess snoot her
ksm CD4 Tine, |owess xlab ylab s(.i) pen(12)

Lowess smoother, bandwidth = .8
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exit, clear



